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U B ST (128 SEAE4)

B {EBa/BF

_RTRRELH PCVH R &Esys AR EE
RFIFELE | #B/ VT
1545 0.0014LLF 9.0E-7LLF (/77 RX0.19) 0.002
251 0.0049LLTF 9.2E-7UUTF (HFARILILTF) 0.005
ISt 0.000059 0.000254F 1.3E-6 (HARIL3UT) 0.0004
451 0.00083L T 0.0009
&5t #90.1ELT(0.009)

it & ETEE (11 A & %)

B {EBa/BF

JRFIFEZE L&

RTFELE | BB T8 POVAAERsys BRTER
154 0.000041 0.000023LLF 9.2E-7LLF (%4 X0.20) 0.00007
251 0.00011MF 8.6E-7TLLT (HFARLILLTF) 0.0002
351 0.000045 0.00011LLF 9.3E-7TLLTF (FHR14) 0.0002
A5 HE 0.00082LLF 0.0009

op
onh
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2.1 15#OMH =5 (1/3)

<RFFEER FFM#AR:11/21~12/3>

1A RANERFERER THE ' :
. 2N . @PCVHREHsys
<7 )i\ ; 7405=
e : =
HeP—— 240 3—
|
il —
= [RFFER
DR FFLER (B fIBg/cm?)
_ [RFFE LA a2 Ny F
%
e m 17 & 5
oo Cs-134| ND(1.4E-6) | ND(1.1E-6) 3.4E-6 ND(7.0E-7)
]
- Cs-137| ND(2.0E-6) 5.8E-6 1.3E-5 1.7E-6
Cs-134 - - 1.4E-6 ND(7.1E-7)
12/3
Cs-137 - - 3.2E-6 ND(1.1E-6)
FRFFELIEOSF AMEE A : flE. EEAS Mo
K FEOHEERH=FFEIZEA
(EHOATERENHDHIE S, Cs134+Cs 13T R FHEN—B S EFREEREA)
258/ \VF iR R
3 ~
1130/ (11/21~12/3) NETIFEEBASKIREIL, H2612150E
- DERLZFEEE (m¥/s)EEA
3 Ho B SR RAFEEE (m¥/s)ZE
M2 (RFFELER) =(1.4E-6+3.2E-6) X 0.07 ¥ x 1E6 X 3600 x 1E-8 = 1.2E-5{&Bq/k
M= (R N\YTF) =(7.1E-7+1.1E-6) x 1130 X 1E6 X 1E-8 = 2.0E-5{EBa/BF LT
M E BIEE
=] =8
2.1 15O =51 (2/3)
<RFFEER FMEAARM:12/4~12/12>
1A ANERTERER
¥ AMRERZAY 7405—
(64F) ifa]
QEEH/N—NA
@EEH/\—H (HfBg/om?) f— "
Bl | o | LR | KB | mE | W@ | @& | LB RO AMiRers
B - 1-+— | 3—F- | 3-+- E&R wEE | 2404-A0

Cs-134| 7.2E-6 | 7.6E-6 | 6.8E-6 9.2E-6 6.8E-6 | ND(8.2E-7)
Cs-137| 2.5E-5 | 2.8E-5 | 2.4E-5 3.0E-5 25E-5 | ND(1.3E-6)

10/2

Cs-134| 3.8E-6 | 42E-6 | 3.0E-6 6.8E-6 5.4E-6 | ND(8.8E-7)

12/12

Cs-137| 16E-5 | 1.3E-5 | 1.0E-5 2.5E-5 2.1E-5 | ND(1.3E-6)

FRFEORELER T =50 = F
) (EHDOBAERERINHDIBS L., Cs134+Cs137TEHEN—B S L EFEER)
2EBRH/N\—imB M
10,604m3/h (12/4~12/12)

3. = 5T
BHEE(ERH/N—) = (6.8E-6+2.5E-5) X 10604 X 1E6 X 1E-8 = 3.4E-3{EBq/BF

HMEE IREE




2.1 1580 M H=5E (3/3)

<PCVHREBIRATL FEMEHIRM:11/21~12/12>

FRANERERER
QPCVH R EEsys
_ PCVh A EHsys = - PCVHAEHEsys | =
w ? o1 ?
b H| H A (Bg/cm?) (m®/h) HUH A H A (Bg/cm?) (m®/h)
Cs—-134 ND(1.7E-6 BT _ .
am |58 ( ) o BIE | Kr-85 9.8E-1 21
Cs-137 ND(2.9E-6)
12/3 | Kr-85 9.1E-1 21
Cs—134 ND(1.6E-6)
12/3 21
Cs-137 ND(2.7E-6)

<BFIFER.PCVHREEATLAS FHEHAR:11/21~12/12>

{0 B
RFIFEEBEHN\—DOHREICLLHFHEHERETEARO B TFH)

FRFDEKIEZ i & 5T

= ((1.2E-5+2.0E-5) X 13+3.4E-3 X 9) / (13+9) = 1.4E-3{ZBa/BFLLT
PCVH A H A(Cs) = (1.6E-6+2.7E-6) X 21E6 X 1E-8 = 9.0E-7{&Bq/BFLLTF
PCVA R H O(Kr) = 9.1E-1 X21E6 X 1E-8 = 1.9E-1{EBo/R¥
PCVA R OKriK LR E) = 1.9E+7 X 24 X365 X 2.5E-19 X 0.0022 /0.5 X 1E3 = 1.8E-7TmSv/4E

HMMEE TR

(%) 1 5OKMBETEM 1AL 12AFEMDOEER

O1SHICONTIX 1MAL12ADRIETH ANAEEFT, M REFTE A ZZEEL TS,
11 AFHE: ER/ ARIL2HZERYSIL-RETHREFFELETE AMRREZTLV, BBAN—HE
WREBELTARELEEICIVEFFELENMCOMHEZFEH, R/ \F[XHIHF/ Y
FLEOF ANAFEELFFHEAB O FRRICELIERE (IR \VTF) DoDRREIZKY

BMHEEZEH,

12A M : FEMEARI DL . BEH/N—DEIVKEE (11/21~12/3) I2DWWZTIE 11 B ERLCEHEA
EICKYBMHEZER . BEH/N\—HEDIKE(12/4~12/12) 2DV TIE, 108 EELCEE
AEICKYEBRHN—ADEHS ANEZSDFRIUSARTO S A AIEEEHELR O F

HREERIZEDEENN—DODRREICLIYRHEZRR,
108 11A12ADFHEICEWTERLET—4

ER265 10 A %4 11 A 54 12 B ¥4
T EARE 10/1~10/31 11/1~11/20 11/21~12/3 12/4~12/12
SANEE | BEAN—A | BFFELE - YA [RFIFE L& A BEH/N—R
[Bq/cm3] EfmS A EHSY Rk
(Cs-134 E-AEFERO E-AFERO
+Cs—137)
3.9E-5 1.6E-5 2.4E-6 4.6E-6 1.8E-6 3.2E-5
BMERE | BBH/N—DD EKAREE BEER/\NYTF AAR4ES A BB Ah/AN—
[m3/h] DREE MODRHEE IODRBE | NODRAE
9,527 252 969 252 1,130 10,604

HMEE IREE
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2.2 258D =51

1. ANERIERER _ @7 0=FHrN AN
DR B Bsysti 07 R FRIE R RTIFRE 4 A POV AE Esys
IRIA | %@ | (Ba/em®) | FiEm¥/h) . F -
- Cs-134 | ND(2.1E-7) Y T T :
BiTE 10,000 : - O R K Rsys
Cs-137 | ND(3.2E-7) >
Y . 24045— 2% 2%
s Cs-134 | ND(3.1E-7) o - T AO T HE
Cs-137 | ND(5.4E-7) . > >
: N s R . 24—
QR R Esys AOX RANAERRE (T O-TIMN R DOEREASDFER)  @PCVHREHsys !
RELH %iE (Bg/cm®) | $£ERH %iE (Ba/cm®) #REH #%iE (Ba/cm®) | fE(m®/h)
Cs-134 | 21E-7 Cs-134 7.3E-6 Cs-134 | ND(1.8E-6)
BiE 12/15 AiIE 19
Cs-137 | 6.1E-7 Cs-137 2.1E-5 Cs-137 | ND(2.7E-6)
2.7°0-7HM R I D RERE D3R L 2 AT o |ELELINDUSES))
qeg | R/BIFLBAOES TR I F (/) G5 INDZBED)
- DiFEAE(m3/h) R EDHE10,000m3/h
RAS ) kxR0 ) RERA | %8 | Ba/om) | FBm/h)
HiIE 16,434 6,434 -
BTE | Kr-85 | ND(5.8E1) 19
12/15 26,817 16,817
12/8 | Kr-85 | ND(5.7E1) 20
3.1 H & 514 FFEOHEZE KL EFTMmIZEA
BSEmEO =(3.1E-7+5.4E-7) x 10000 X 1E6 X 1E-8 = 8.5E-5{8Ba/BFLLTF
BOP&RE % =(7.3E-6+2.1E-5) X 16817 X 1E6 X 1E-8 = 4.8E-3{8Bq/BF
PCVAH X H A(Cs) =(1.8E-6+2.8E-6) x 20E6 X 1E-8 = 9.2E-7{EBo/EFLLF
PCVAH A AKr) = 5.7E1 x20E6 x1E-8 = 1.1E+1{8Ba/BF LT
PCVA AH OKr# [E<IF =) = 1.1E9 X 24 X365 X 2.4E-19 X 0.0022 /0.5 X 1E3 = 1.0E-5mSv/ELLTF
MWEE BIREE 6

1.5 ZAFRIERR

QPCVH R EEsys
240 5—
e
748— T
RFIFER .
DFRF4F L& (BfIBg/cm?) @PCVH R EHsys
[EFIEE R 28 )\ 3 _ PCVH'ZAEHsysHiO | RE
= % REB| #%E
RRE | B8 s L0 I FB(m/s) - (Ba/cm®) (m®/h)
@ LCsT1%4] ND(2E-®) | 29E-6 ND(1.3E-6) o e C=mlehl NDAOE.6) 19
] . e .
Cs-137| ND(2.0E-6) | D ND(1.9E-6) C="137 e
Cs-134|  3.6E-6 4.3E-6 ND(1.9E-6) 1o/1p 22181 1.9E76 21
12/10 0.06 Cs-137 4.4E-6
G 31| 1ES 1.4E-5 1.8E-6
. PCVHAEHEsysHH O | RE
%
5 D B % 8 ST = PR ©aomd) o)
(EBDORATERRIHDHIBEEL. Cs134+Cs137TREHEN —B S\ EFZIEA) BIE | Kr-85 7.6E1 19
12/10 | Kr-85 ND(6.3E1) 21
XEFIFELSISHEREIL, H26.12.1117E

2.1 H = 5Tl
M E (RFIFE L) =(4.3E-6+1.4E-5) X 0.09 ¥ x1E6 X 3600 X 1E-8
M= (B35 \vF) =(1.9E-6+1.8E-6) X (0.06X5.6 X 5.6)E6 X 3600 X 1E-8
PCVA X H A(Cs) =(1.9E-6+4.4E-6) x 21E6 x 1E-8
PCVA R H AKr) = 6.3E1 X21E6 X 1E-8

PCVA R H AKARIEIRE)

= 1.3E9 X 24 x365 X3.0E-19 X0.0022 /0.5 X 1E3

DEK[FEEE (m¥/s)ZE A

= 59E-5{EBq/RF
25E-4{8Ba/BFLL T
1.3E-6{EBq/RF
1.3E1{8Ba/FF LT
1.5E-5mSv/ELLT

HMEE IREE




2.4 ASBED R =51

4 AMEERGAY
OmEmmLAr—n | | 7D
i V2% 74048
/ T AO HA
----- T 74»9—T
r- ] >
. > >
| as
ey QBB LRI - S R
1A ANERIEHRR
OB EH LBAD/ N —RA
(REEHE LAADN—HESEEA D) (BEAIBg/cm?) QBEmMELANN—HRREEDO
= . FIoV Uy . = PRELEH LRI - =
RERE | BHE | SFPIEfE | oo | AN-LE REE | BB | gemmn Ba/ond) | ms/h
. . . - Cs-134 ND(5.7E-7)
i Cs-134 | ND(5.5E-7) | ND(5.8E-7) | ND(5.5E-7) S s e
Cs-137 | ND(9.1E-7) | ND(8.9E-7) | ND(8.8E-7) Cs—137 ND(9.0E-7)
- _ : - Cs-134 ND(5.6E-7)
o Cs-134 | ND(5.9E-7) | ND(5.7E-7) | ND(5.6E-7) o s 50000
Cs-137 | ND(9.4E-7) | ND(8.7E-7) | ND(8.8E-7) Cs-137 ND(9.4E-7)
N TRF DB % B ST = 5
2 BN/ N\ —RIREFM (MDA RN B HBE (L. Cs134+Cs137 B HHEN — BB B %A
5,233m3%/h (11/8~12/1)
3. H = 5
MERMELAAN—ILDREE = (5.9E-7+9.4E-7) X 5233 X 1E6 X 1E-8 = 8.0E-5{&Bq/BELLTF
PRI LA —HER %G = (5.6E-7+9.4E-7) X 50000 X 1E6 X 1E-8 = 75E-4{EBq/BFLLF

HMMEE TR

51 1 SHREK/ VTR EFT

L iipapr
TEREELIEE. BERNNEE. BREEEEENSHETRD S,
HEA
12A38 dJtdt#® 0.9m/s
P4 VO: S &UELR (m/s)
Cj it B V1 EZEFRH ARE(m/s)
V6(P6=0) V2: R AR (m/s)
l s V3: R ARE (m/s)
290 _ V4 ZEFRHEARZE(mM/s)
— 5
— [h=Em V5: R AR (m/s)
V6: R ARE (m/s)
V1 V2 P1: EFARAIE S (LR (Pa)
o1 p _’Pz P2: FHRBIEH (GLA) (Pa)
L P3: LT (FER) (Pa)
%;gﬁ? P4 FBIE 1 (FR) (Pa)
PS: L EHHE N (Pa)
— [ 1 =t P6:T/BNIE 11 (0Pa)
& <3Eﬁmﬁ"ﬁﬁé>2‘f (BT H) P-EENEH (Pa)
Vo Vi S1: 88/ v F ERAEHE (m”)
P S2:R/BIEE EFEBOEE (m?)
S3:R/BZERMOERE (m?)
b TV5 0 EREE (kg/m°)

C1: R Rt & L4
; C2: R fREELE T4
' C3: Al R k(7 & L)
' C4: B RE(FE = T4
i C5: BE (L EER)

BTFRE

(GLER) ¢ FARERRE

el S i
Vs

HMEE IREE




51 1SHESR/ VT ORREFRE

REEVES BHE, ERAL Tuu.ﬁ']O)Ej]lizXﬂ)t}oU&&é
LiRAI(ALR) :P1=C1 x o XV0°2/(2g) -

TR (AER) :P2=C2x p XxV0"2/(2g) ==
LRI (FER) :P3=C3x p XV072/(2g) ---
TFRAI(FERE) :P4=C4x p xV0"2/(2g) +--

L mEER :P5=C5 X p X V0°2/(2g)

REZP. IREEOENREE L £T5E

P1-P=¢ x 0 XV1°2/(2g)
P-P2=¢ x p xV2°2/(2g)
P3-P=¢ X p XV372/(2g)
P-P4=¢ x p XV4°2/(2g)
P-P5=¢ X 0 XV5°2/(2g)
P6-P=¢ x 0 XV6°2/(2g)

ERAHAEDTRNSVRARIE
(V1 X 0+V3 X S2+V6 X $3) X 3600=(V2 X 0+V4 X 0+V5 X $1) X 3600

EDEEDDEEYIETDHE
Y=(V1 X 0+V3 X S2+V6 X S3) X 3600~(V2 X 0+V4 X 0+V5 x S1) X 3600

(1)
(2)
(3)
(4)
=+ (5)

-+ (8)
-+ (7)
-+ (8)
-+ (9)
=+ (10)
(1)

V1, V2, V3, V4, V5, V6I&(6), (7), (8), (9), (10), U KIZKY. POBEHAD T, TYIAEOIZAEDLSIZ

POEZRES S
VO C1 C2 C3 C4 Ch5 I3 19
(m/s) (ke/m*)
0.90 0.80 -0.50 0.10 -050 | -0.40 2.00 1.20
S1 S2 S3
(m? (m) (m?
3.48 0.00 0.29
P1 P2 P3 P4 P5 P6 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.039673 | —0.0248 [ 0.004959 | —0.0248 [ -0.01984 0 -0.0197
\2 V2 V3 V4 V5 V6 Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
0.70 0.20 0.45 0.20 0.03 0.40 0.00
IN ouT IN OuUT ouT IN OK
XIN A
OUT: it
B/ \wFRAVE 421 m%h
M E BRICER 10
= B =
\Y ~ LY St =W
SEZ1 18 \“WFD 25
25 / IR &
C‘:.d)/l'ﬁi/%iu:l:mﬁ ( 15“)
11A28H 115298 115308 12R18 12A2H 12A3H 12A4A8
8 BfRE | RAE | AR BfRE | RARER | RE BER | RAE | R B | AR | BE BERR | RRE | EE B | RARE | EE | BR) | RARE
(m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
FEE 2.1 48 971 20 1.8 949 1.1 1.0 492 1.9 18| 890 5.4 15.0 2517 18 27 855 0.0 00
FEALFERE | 14 27 664 23 1.8 1,086 16 48 772 32 42| 1506 43 5.0 1,990 26 33 1,227 0.0 0.0
AR 1.1 15 510 1.4 30 661 13 5.0 613 1.7 55| 810 09 0.3 398 15 22 699 0.0 0.0
Jedk@ER | 09 08 440 2.1 47 1,005 15 10.2 725 1.7 28| 774 2.7 0.3 1,241 0.9 0.3 421 0.0 0.0
4 0.0 0.0 0 31 25 1,430 32 1.8 1,486 1.4 07| 667 0.0 0.0 0 08 0.2 375 0.0 0.0
JedER [ 00 0.0 0 22 03 1,030 14 0.2 656 1.1 10| 515 0.0 0.0 0 0.0 0.0 0 0.0 0.0
FERE 0.0 0.0 0 0.6 0.2 281 0.0 0.0 0 0.9 02| 421 0.0 0.0 0 08 0.2 375 0.0 0.0
WILEE [ 00 0.0 0 0.0 00 0 0.0 0.0 0 1.1 02| 515 0.0 0.0 0 0.0 0.0 0 0.0 0.0
A 1.9 12 870 00 0.0 0 0.0 00 0 00 00 0 0.0 0.0 0 0.6 0.2 281 0.0 0.0
RERE | 21 0.7 960 20 05 937 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0 0.0 0.0
FIRE 26 03 1,218 23 0.2 1,077 0.0 0.0 0 0.9 02| 421 00 0.0 0 0.0 0.0 0 0.0 0.0
mERE | 33 5.0 1,564 33 25 1,542 0.0 0.0 0 26 15| 1218 0.0 0.0 0 1.8 05 859 0.0 0.0
FE 2.1 28 986 32 28 1,504 0.0 00 0 2.1 18] 992 00 0.0 0 2.1 15 999 0.0 0.0
MEAR | 1.6 1.3 761 12 15 541 0.0 0.0 0 1.5 07| 679 1.0 0.2 468 31 38 1,450 0.0 0.0
HFER 1.4 1.3 644 1.4 0.7 644 0.0 0.0 0 12 10| 554 1.6 0.7 749 26 48 1,206 0.0 0.0
EEER | 1.3 05 593 1.0 0.7 445 1.2 1.0 546 15 12| 723 26 18 1,196 23 35 1,082 0.0 0.0
ﬁfﬁ%? 22,440 24,672 18,038 21,238 51,030 25,296 0
eyast N e —N== b7y =111 = [—=
MHMEwﬁﬁ@Emeﬂﬁémﬁw&oLwﬁgéo
IR E Ifl E
SElEARY | 11/21 ~  11/27|11/28 ~  12/3 RREBAE(M3) [ RN RiREmMI/h)
’@Fé?fs;ag 189,757 162,713 352,470 312 1,130

HMEE IREE
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%51 15HEEN/N\—ORREFL(

ERRBZFNETRE. BERNNEE. REEBLRENSHETRD S,

B R fiWapra
FHEH
128128 Jdedtd@ 2.2m/s
P4
<:| i V6(P6=0)

P P

7 RFFEE

S9
(€840

= !

VO P3

S7
(€392

\Z

P2

S6
(KA F)

P5 V5T S8 A—EiR/ R

300 x 47E T NEIT +1mAIREALL)

$R—
(ZZEE)

VO: S UER (m/s)
V1:hA—F A EE (m/s)
V2: H3—FRH AR (m/s)
V3: h/A—FE A EE (m/s)
V4: HN—FRHE AEE (m/s)
V5: A/ 3—FRH ABER (m/s)
V6: H/ 8 —FH AR (m/s)
V7 HERUER (m/s)
P1: EREIEA LRE) (Pa)
P2: FiREIES ALR) (Pa)
P3: EFREIE S (FERE) (Pa)
P4: THRAEIE A (FERE) (Pa)
P5: EEBIE F1(Pa)
P6:R/BNIE 71 (0Pa)
P:H/3—REH1(Pa)
S1: 7/ \—[ERIEHE (m?)
S2: A N—[RRAEHE (m®)
S3: 7/ \—[ERAEFE (m?)
S4: HN\—[ERIEFE (m?)
S5:R/BZERERIO@EE (m?)
S6:R/BAH A OB O EFE (m”)
S7:R/BIE% AR O EE (m?)
S8: /A —E4RBI O @iE (m?)
S9: R U MEAETE (m?)
0 : ZERFE (ke/m°)
C1: REREGEL R L)
C2: AEFHRHELETH)
C3: B & (7 R L)
C4: BE R (TR T )
C5: B R E(LER)
¢ KB RE

M E BIEE

12

&1 1 SRERHN\—ORBEFH

BFEEVET HE. LR TREADEAITRDELY LS.

B AELRE) :P1=C1x p xV0"2/(2g) *++(1)
T GLR) :P2=C2x p XV0°2/(2g) -+ (2)
L (FR) :P3=C3 % p XV0°2/(2g) -+ (3)
T (FERE) :P4=C4x p xV0°2/(2g) -+-(4)
L& :P5=C5x 0 XV0"2/(2g) -+ (5)
WNEZP, B OERGRRE S LT 5HE
P1-P=¢ x p xV172/(2¢) <1 (B)
P-P2=¢ x p xV272/(2g) e (7)
P3-P=¢ x p xV372/(2¢) ... (8)
P-P4=¢ X p XV4°2/(2g) -+ (9)
P-P5=¢ x p xV572/(2¢) ... (10)
P6-P=¢ X p X V672/(2¢) - (11)

ERRBABEDTRNSURRK(E
(V1 X ST+V3 X (S6+ST)+V6 X S5) X 3600=(V2 X S2+V4 X (S3+S4)+V5 X $8) X 3600

EDERBOEENVIET HE
Y=(V1 X S1+V3 X (S6+S7)+V6 X S5) X 3600~(V2 X S2+V4 X (S3+S4)+V5 X S8) X 3600

V1, V2, V3, V4, V5, V6IE(6), (7), (8), (9), (10), (1 DRIZKY. POEHLZDT. TYIAERIZAEDKSIC

POEZRAET S
Vo C1 C2 C3 Cc4 C5 I'q 0
(m/s) (ke/m®)
2.22 0.80 -0.50 0.10 -0.50 -0.40 1.00 1.20
St S2 S3 S4 S5 S6 S7 S8 S9
(m?) (m) (m?) (m? (m?) (m?) (m) (m?) (m?)
1.20 1.20 1.20 1.10 0.29 0.00 0.00 3.32 2.88
P1 P2 P3 P4 P5 P6 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.242278 | -0.15142 | 0.030285 | -0.15142 | -0.12114 0 -0.11813
\2l V2 V3 V4 V5 V6 \Z
(m/s) (m/s) (m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
2.426 0.737 1.557 0.737 0.222 1.389 0.000 0.00
IN ouUT IN OUT ouUT IN OUT(HER) OK
XIN  EA
OUT: it
HREE 11,941 mi/h
HRITVRE 0 m’/h
mRE 11,941 m%h

MM E BICER
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%51 15HEEN/N\—ORREFL(

BT EORBRETHD (—HD

12118 12A128 12A138 12A148 12A 158 12R16H 12A1780
RE BRI | RARE | RE B9 wEE [ RE BR | mEE | A& Bff | RARE | E&E BER | RARE | RE B | REE | RE | MR | RAax
(m/s) (hr) (m3/h) (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h)
Fic) 2} 28 1.8 1,890 1.3 0.2 863 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TR | 32 32 12,763 40 18 15,793 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JEFER 24 23 11,300 20 27 9,482 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JtAFERE | 30 20 15973 2.2 9.0 11,941 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a8 29 0.2 15,272 2.8 45 14,491 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0
=R | 00 0.0 0 2.7 22 23,651 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0
JeEHE 0.0 0.0 0 23 12 22,283 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
RILEE | 00 0.0 0 24 08 23,585 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 0.0 0.0 0 15 05 12,958 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HEEE | 00 0.0 0 20 0.7 19,004 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FIRE 0.0 0.0 0 24 03 22,351 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MERA | 37 0.8 31,699 0.0 00 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 34 33 17,668 0.0 00 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MEER | 49 6.8 26,308 0.0 00 0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0
FTEE 42 28 19,294 0.0 00 0 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0
R | 16 0.7 6,460 0.0 0.0 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
i 5%5? 428,794 350,558 0 0 0 0 0
1673 1B DT IIERN SRR ZRIE DX DICFHE T D,
RREEE
BaiiEtlo] 12/4  ~ 12710 12/11  ~ 12/12 RREAE(MI) | FHE RGN | RiEIEmM3/h)
@Fﬁ?ﬁéﬁé 1,511,160 779,352 2,290,512 216 10,604
M E BRICER 14

£52 ASHRMEEH LAN/ N \—0jREEF

Mt 73

ERRBZFNETRE. BEERNNEE. REERBLGRENSHETRD S,

StERI
12818 Jedbds 1.7m/s

C:l:ll: P4
Tva
S2
Y . 2
St HN—
P1 s3 P2
. S5
> (EEI%#E%%K)
GEEAR) _ S4 RS
RFIFRE -
& %
Vo P3
P
V5 o
wpmmans ) 2
5/ — DA

P5=0
REFEE

VO: A SURE (m/s)

V1: hA\—RAFEH AEE (m/s)
V2: h\N—RFEH AEE (m/s)
V3: h/\—AFiH AEE (m/s)
V4: h\—AFiH AEE (m/s)
V5: h/N—ARFiH AEE (m/s)
P: A/ N\—RAEH (Pa)

P1: EREIE S (ALRE) (Pa)
P2: T RAEIE S (ALR) (Pa)
P3: EREIE S (FER) (Pa)
P4: T AEIE S (FER) (Pa)
P5:R/BAIE 71 (0Pa)

S1: A/ \—[ERIEHE (m?)

S2: A/ \— R EE (m®

S3: 71/ \— R EE (m”

S4: 1/ \—PARIEHE (m”

S5: 2 BRI AR AR EHE (m?)
0 EREE (ke/m%)

Cl1: REHREGELR LA

C2: REHRHGLE T8I

C3: REFHR (@R LA

C4: REFHREFER T

¢ RARIERRE

HMEE IREE
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£52 ASHRMEELAN/ N\ —DlREEF

BEEEVET BE, LML TRAIOEAITRDESYLELD,
EREIELR) :P1=C1x p xV0°2/(2g) **

THEI(dLR) :P2=C2x p X V0°2/(2g) -+
LA (FER) :P3=C3x p XV0°2/(2g) -+
T (FR) :P4=C4 x p XxV0°2/(2g) -+

HNEZP. FRABOERREEL LTHE

P1-P=¢ x p XV172/(2g)
P-P2=¢ X p XV272/(2g)
P3-P=¢ x p xV372/(2g)
P-P4=¢ x p XV472/(2g)
P5-P=¢ X 0 XV572/(2g)

(1)
(2)
(3)
(4)

-+ (5)
< (6)
<o (7)
<+ (8)
++(9)

LERREABDTRNTVRAK (T
(V1 X S1+V3 x S4+V5 X S5) x 3600=(V2 X S3+V4 x S2) x 3600

EDERDOEEIYIETBE
Y=(V1 X S1+V3 X S4+V5 X S5) X 3600-(V2 X S3+V4 X S2) x 3600

V1, V2, V3, V4, V5(&(5), (6), (7), (8), (9)RKIZ&kY. POBEHED T, TYIAEAIZASELSIC

POBEHAET S
Vo C1 C2 c3 c4 ¢ 0
(m/s) (kg/m*)
1.65 0.80 -0.50 0.10 -0.50 2.00 1.20
St S2 S3 sS4 S5
(m) (m?) (m) (m® (m)
0.44 0.81 0.46 0.81 4.00
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.133823 [ -0.08364 | 0.016728 | -0.08364 0 -0.00057
V1 V2 V3 V4 V5 Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
1.05 0.82 0.38 0.82 0.07 0.00
IN ouT IN ouT IN OK
XIN A
OUT: it
mEE 3,742 m’/h
o FBIRTEE ANBGER 16
SE2 ASEBRHEIRELURD/ \—0 R R R
2 k] (N UM
NES P N=N=E=h
B EDREREFHIE (—1B1D
118298 11H308 12A18 12A2H 12H3H 12H4H 12858
RE | BRI | RARE [ RE B | RARE | RE | BR | RRE | B&E | BE | RRE | RE | B | RRE | B&E | BE | RARE | B&E | BN | Rax
(m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h)
FE 20 1.8 5510 11 1.0 2854 1.9 1.8 5,164 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FwILEE [ 23 18 5,266 16 48 3744 32 42 7,305 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0
JEFER 1.4 30 3,205 13 5.0 2975 1.7 55 3,930 0.0 0.0 00 0.0 0.0 00 0.0 0.0
dedER [ 21 47 4,859 15 10.2 3,503 1.7 2.8 3,742 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0
LR 3.1 2.5 9,600 32 18 9,975 14 0.7 4,480 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JtdbEE | 22 03 4,980 14 02 3,169 11 1.0 2,490 00 0.0 00 0.0 0.0 00 00 0.0
EA: ) 06 02 1,363 0.0 0.0 0 0.9 02 2,044 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0
HILEA [ 00 00 0 00 0.0 0 1.1 02 2,499 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HE 00 00 0 00 0.0 0 0.0 00 0 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0
HEEE | 20 05 4,489 00 0.0 0 00 00 0 00 0.0 00 0.0 00 00 00 00
HRE 23 02 5,162 0.0 0.0 0 0.9 02 2,020 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MEREA | 33 25 7,371 0.0 0.0 0 26 1.5 5,820 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MR 32 28 10,052 0.0 0.0 0 21 18 6,629 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
mEER | 12 15 2,586 00 0.0 0 15 07 3,246 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0
A 1.4 07 3,086 0.0 0.0 0 1.2 1.0 2,656 0.0 0.0 0.0 0.0 00 0.0 0.0 0.0
EEER | 1.0 07 2,132 1.2 1.0 2,619 15 1.2 3,463 0.0 0.0 00 0.0 00 0.0 0.0 0.0
;‘E;‘?mﬂs)s% 135,303 92,877 108,434 0 0 0 0
wiast N Y —N= =S =Til = |[—Z
1673 1B DT IIERD SRR ZRE DX DICFHE T D,
BPymeas
REEEE
SMEMRE | 1178 ~ 1114|1115~ 11721 11/22  ~ 11/28|11/29 ~ 12/1 REEAEHMI) | FHERRLM®N) | RiREmI/h)
EFE?ESEE 870,209 805,790 1,001,535 336,614 3,014,148 576 5,233
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